. ., ) . « « v
\ N \ - haa N e - ‘ ‘-
. . . - N - . - . L (ﬂ -
. -~ ’ . .
. . G = .
I - - -
) 0 - - - 4
. - < T {

Solubility #3 - Assume that all solutions are at 25°C unless told otherwise.

- 1. Which one of the following solutions will contain the greatest silver ion concentration?
9\1/‘\‘" l\" //k\(
¥saturated Ag,CO; saturated AgCl _ L
» A&]-Z{'];‘O'qn LA‘)]'&T‘* {0 M
2. In which solution would you find the highest magnesium ion concentratlon saturated
‘MgCO; or swrated MgFe2 XMgee,  Ohg*l- Zuno M
sebueda RagowW), . Mgod)y (rg2™ 1 Lttsio™
3. The K, values for various silver salts are given below:
) e,
Tle130ne v AgBro;  53x10% [A1 43 AgCO,  8.5x 1012
3 > : -7 & -
A= Tt 457 AgyCr,0; ¢ 2.0x 10 X~ AgSCN 1.2 x 1012
p— .
x" AgOH 1.5x 10710 X" AgBr 5.4x 10713
x* AgCl 1.8 x 10°10 X Agl 8.5 x 1017
>
4r” Ag,Cro,  1.1x 10712 X Aglo, 3.2x 108
Determine which one of these compounds gives the highest silver ion concentra-
) tion in a saturated solution and calculate this concentration.
| -<
: 4, Calculate the solubility of BaSO,. [, 0 X100 ™ M
N
5. Calculate the mass of solid PbSO, that can be dissolved in 5.0 L of solution at 25°C. *
002-[) 3 -
6. Calculate the solubility of Pbl, at 25°C. -5
.30 °M
7. What is the solubility of calcmm oxalate at 25°C in g/L?
LA/
8. How many milligrams of CaCO3 would be dissolved in 1.0 L of saturated solution at
25°C.
7, ‘ m() / L
9. What mass of Pbl, will dissolve in 250 mL of water?
O.15°9

10.  a. What is the solubility of magnesium hydroxide? f. 1] * 0 M
b. What is the [OH'] in a saturated solution of magnesium hydroxide?

2.22.% (Q 1 M



